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Turning the thumb under.

Turning the thumb under the 214 finger.
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M. M. J = 40 to 72.
#E{: Repeat this s

0 1 1T [ 1
) measure 4 times. - | i‘:i!ij:
o o T9®
121212121212
392 121212121212
: 12421212121%
rw Y s 1
r— ‘e
J
oPo_oPeso¥Pe — ] 212121 1 1
L2112 f21R1R121%12
121212121212 g 2121
1 01 1 111
8 ...............................................................................
1. 1 1 14 1 1 1 01 1 1 4 4
1 1 1 1 1 - .
i = v ey
AN Yy 11 Y
Y el = =
1
gﬁ 1 1 1 1 1
qeatfeeef ~F o e
t 4 A A A
1 B . b
1 1 1 1 1 1
101 1 1 11

I S I | v
2R eitaey ey
ofo |1 1, .

4
T 1 ""F"‘
T i
17 11




